10-03-2019)

(c) Iy

Ans : (c) SMaeR wea § ‘e IwE g1 A E
T IO fae WeR faw & vEe gt IHAT fad
YT & 8| AR & 3 way/Fea, & B 8

S ST 1 fautrds T A fW f
7. 'Oitiae | 4T &

(a) & (b) =D

() P (d) =

Ans : (b) ‘ofie’ Wk § ‘g’ FoIq W gAT &1 HA,
T qor frerer & o # e ard gdd @ afed
YRR el ST & qU WS g & o< # ared-
Y T W garas, STIedad g1 oaradh [aeeot
T 81 ‘5% AEATS ated wad & o A 5 & 1o

S AT e e’ @ S 2 |
8. "3TRYTT' hl TdeTTH EHM:

(a) HETT (b)

(c) HHOT (d) HTAH

(a) 77 O FB (0= (d)q=

Ans :
I E S T & Uil 3 R g R (s R @

............ &% =7 78 B )

3. T | 3T AhdAl a:
(a) T H T (b) faech 336 W &
(c) =fa & T & (d) IIET S T 7

Ans : (b) 52 T TETe F IS At @ feeol I
T #| 7S & favemuEn g w5 IR ¢ R R @
HEUHS Tl H AT Faq I TGE S F=4 § g
=i, 7 & §52f & avfivm gt THreET @ qUer a1
4 #1 g 29 & 99 FATYH I & S0 WY a9 §
5% w1 # 7 919 397w €

4. TITAA @ A A @il §7

Ans : (d) ‘FIFT & v G At a1 81 a8 e
‘w7 ITt 3R eE & A § a8, forwe o R
e 21 3 39T & 5E 74 ‘fege @ &
5. a9l &l 3Udth vithas AT g’

(@) = () f

(c) ¥=af 5 =¥ (d) Y
Ans : (a) T T ™Y & Fales 31w A6 T
g wifen aife fad 77 T § §f & 5=, 3 i
H AN & AEEET G YR FEReET S
T 4% W 8 ik & gt R T #

Ans ; (b) &3 T3 fadedl § SRd0r & (aqaade IR
famdor &1 @ & o, ‘S T S @ T qewr
ggﬁ‘mma@f‘ﬁw Il 21 319U 1 faers T

|
9. SN Sl w0l & Tl U Ui 5

(a) =1 (b) 3w

(c) g (d) =
Ans : () WIH Ff FT & fou Halles g, v
“Forgmar’ él A & o Sefie, vy @ ‘WET R
¥ & Wied sl e, FAr A w21 sfrem
‘T & qHEf IR 2 |

10 & o sgaad qm

(a) & (b) i

(c) HUHH (d) It
Ans : (d) ‘HI1 H HAW B | ST Her
T & I & o W U e AT E |

TR VR T S A |
1L TT9 0§ O ared ada s a7
(a) W9 g B (b) e Ty
(c) e =t W@ 4 (d) =& s
Ans : (a) SRATM AF1 ¥ UG Ygqr @ wwi qoam
;ragm%@nm%ﬁwnﬁhﬁam
I S
WA 4T — T e
i 1w A - 37yt g
aE AN - W G
et o yoares tog ea a1 ¥
(@ ? (b) !
(. (d) ;

12.

-
—



‘‘‘‘ Ans s (b 1 T faaet @ e we faaelt § 5 '

(Ans - (a) 12 7 faeedl § (7) gvaard (am T CEl : Er l
& {T A au qTAN 8] foam foel et sy fepon A L B‘T’_N .
ST &1 e v (o @t faaon fae §- 1. Frwrera’ fama Uahtt @l Al

|~ faspfRae e () feRarTd (by AfAErTs

= oeg faum faw (c) AT (d) HrdrTH

; - R e Ans  (a) Temmers orfwar 7o &1 G we g

13, TE mvi‘{;ﬁhlﬁrﬁﬁﬂi I TS ary @ 44,/nqr1/ ﬂl’ffr*f o1 g @, T'q Zlh‘-ﬁa TE Ty
() W AV &I (by el e it &1 awi frrers 9 Tdd & AT & AT B TE R, m
() faw g () wllen & Ny safwardae S A

[Ans: (@) e T et @ sl sl aen B ufJ 3. Taer i goaarad :

14, U@ @9 § arell @l asrdt| eiaiteh @i @ (by
Nvfa:uri? (c) ®r4 (dy @
(a) U B9 F Al awrd =g Ans : (d) 594 fadwedt § @A goqarad qdqm 7|
(&) T & forn v T FrR w W @il & fam P mdArd a1 AT A R, I
(©) TE & forw Ay FraEn B #) TIAATIE WA At #1 AT - b, 1, F A
() ’W%ﬁ“#f‘!‘-ﬁﬁﬁﬂl 23, Toer o Fr-aT dearara s oA £7

Ans @ () T U &9 F arell A6l aadl H FeEl e (1) FD il

e & fou S+ o e gE E () Tha ) THE

15, 17 A aut e e Ans : (a) YT fached § go Heeaardd (Geeor gl
(@ I by W AT favmor & f9 9= @ #-
(c) € (d) ® fafr=a Heararaes fasmeo

Ans : (a) 3 77 fOFeql 4 § 9 &9 qui @ o aod ||| i wwemaras fagmon

(FTYE §) IA & s g1 v osreg |, T yd= ||| viemEe fawmo

(araaarqummﬂmawm(mmaﬁa ‘T giTErde [T & R AT 2

T I fRe WM g 24. {9 H ot O &l l qdgdr=l A2l a7

16. =4 ﬁwwmm%? (a) arg (b)y THR
(a) 9 (e (c)® (d g (c) wad (d) =fae

Ans : (¢) 79T fq@medt § W AN 901 8| TH gon Am, (d) x4 774 fashedq § Hrerd &d1 & TF1FarE w8
maﬁmmﬁmwg‘gnm%mﬁmﬁm & o9 78 ‘5 & vatgard wek 81 3 g fawey
WA #1 fed aviwen # uiw aof s, W, o, F, #||9g, W, 99q, &4 & wAigard £
s ¢ fawes & 9, @ dw ‘g au @4 & Wl ([ 257 T § 9 i | v Vg 87

EECRd (a) SATEEHT by =

17. "HWe= ol did-1dedg s (c) It (dy =
(a) el + 3= (b) B+ TH Ans : (a) Y57 foehed § § ‘S0 9[E TR B | fashed
(c) WRl + &= (d) We + % ¥ A o e & Y& g Aefefad g-

Ans : (a) 96= & 919 faw@e W1 + §= &, of 0 = ||| -
I{ﬁlﬂﬁﬂaua&ﬁmaﬂ$mgmi,3’m It — A
awa—mmmﬁ——mmq‘aﬂmm—w

‘3 # A& 26. TIE | ohlF 97 9 3G &/
18. dreicia ° S a1 aH9 87 (a) T by (o) whfEfy (d) werm
(a) A4 A1 (b) 77FE  (¢) 5% (d) 571 |[Ans: (b)mmﬁﬂﬁqwmmgm
Ans : (b) TaEER § HE aqEg 90 8 ||| Y€ 9 E R fawes § 3ufiem mmﬂzaﬁk
T=IER & fage & UN + T|AW IAlq TS H @R T8 ared &1
R HE faafch ‘F ¥ 6 ¢ AG: A6 T A || 27, T ° i |l VI S 87
gy 71 (a) T4 (b) ATSI (c) fmfor  (d) faars
19. ‘gardaa’ § i a1 Gard 8/ Ans : (b) Y50 [debedl § aT87 9/ea SNeAT @1 (adhed §
(a) A9 (b) FHHYA Iufrer o weg-ward, famiv, fqare sere gfeem §)
(c) awsfife (d) sl amq 28. T W i O d1ad 9leg &7
Ans : (d) mﬁnwmmalwmmaﬂ ((.,qmmm (b) 4 ¥ T4 )
qénvwmm?wmuammwmm (c) T3 =L T8I (d) T W I 7
gl w2 I ST B AT G E AN 9 A | | (A (o) TR 7 fabedl K@ 9§ e e 8
B1 ‘a9l T4 H TR G2 FOTA & 31 gE Fael 9% 8 ﬁmqmmwwgl
20. ﬁmﬁaﬁ—-{mmﬁﬁéﬂ? 29, mwmmwm')
(a) " (b) et (1) ORDER (b) REQUEST
(c) 9+d (d) 5eg (c) GUIDE (d) DIRECTION
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AT - Study
e - hlSpCC[ion

- Educmional/Pcdagogies

1 3 : E; ; 7

© T+ | (d)m[wr;mm
Ans:((l)qmwﬁfafafa%aqu. \ 5
éﬁm(ﬂq+m;#m3wgfm areqd
fammer o 21

36, T & i 91 JTeg dodA 8¢

o ¥ 5 =
@ (b) 3emEER (c) B% o - =
e Ay (d) arurfh Ans : (a) &8 T3 faeedl § 5 IR A E

%.(c)mﬁmﬁﬁm{{r. A, 37T, %mﬂ"ﬁﬁﬁ%#mmqw
Ak SRS ST o AR T S e T T &1 A oA & qod &9 e g
- Rl

W%éﬁ?'mmmw%%ﬁw g

T St 81 3@7?[_:1::1@?@1%@3?7

. Wma‘awaﬁfmmm\g? L @amt mdEE (o) (d) Sfrf
(a) WWWH@T%@W@ Ans : (c) J9ATd [ashodl § oA U d=d 8§, (el
(b) T T A st A8 A oW Y FEr 81 37 A 3K A &9 8
(¢) ¥4 foug &7 goa 78 wan

s TA i T FTA AT 3¢

(d) T8 srerera (waden) 3 sTavamar 48 a0 E:;;;T (b)mm (c)ra-q:g; (d) =
Ans : (%) TRP TEH 0 @ 4 5 w9 31 0 & Ans : () TEIT Fbed § SO e R 1 e
I TH BN FW, W e wwe fopasll & 59 @ @ a1 & 6wl @9 e 7w e
ST/ HH=al & G & & A ya fear T A F1d B & forg NG w8, 4 oS g

wwﬁw\wér FEemt ¥
e 1A~ y — ' - &l AT 7
I 9799 4 a9 FW UG FeA a1 gRed g foret » (:;mﬁaw w(b)uﬂaﬁ?w
a AL () m&t - v (d) W - TE
2. 9 qOA: ST B A1 Ans : (d) STe-oc e a1 48 59 w0 ]
3. 5 [ 1 Seere o I el sfer a7 Wi ond st g # s sy oTer @ o
4. S A A HET/HEA AT AT K /e B 4
5. ¥H TR # T/ T F A B & 40. 199 0§ @ W ared Ggeh e 57
33, SAGATHETT TF & F<H H H | &2 Teld 8! (a) 4 o=® |

(a) TN T AHTT T F T & & | (b) 3% 7R ft, 9 @ g et o

(b) & 9 37 [F # ferar S | , (c) 3MYhl TR 7 &1 =B 2|

(c) YA w/edi ¥ ANA & § ATavqShar Tal (d) &l I 3T 9 B

BT | _ . . Ans : (b) fomedt § 3= 7 A1 a4t 41, = ERcl
(d) ¥4 T96 @ & AAEH & T T ||y ot " Hqh d @ s e g §
AR BT 2| AR/ sy et 1 Her SAS Saadl G A 8, 39

Ans : (b) f&dt et sfusr g s weerd T A1 e &) T IR A A ol oA si g
SAferewr/ FHAT/ T T wAf & e & % e i U N B U 2 e 1 s SO
fepeft g qrae & A S SR B, famn-femed ||| facen # suftem s At T g §)
HEA(, FEIH, AN & A HA M 6] General Aptitude Test
aAf = T fer@r 1A w1 sre-wE 97 FEemn g T Tierar

mew(mw)ﬁmﬁm of ey

. 1.9 41.  In certain code, 'LIGHT' is written as
et ST 1§ WA ad Hare i faw g '1297820". How will 'SIKKIM' be written in the

il same code? .

34, 90T 4 et @1 aut urg §7 fadt &g ¥ 'LIGHT 9 '1297820' & &0 ¥
(a) & (b) @ forar Smar 81 3t =g § 'SIKKIM' &t &
(c) 4 (d) 7 feran strun?
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(@ 1991111913 (b) 1991121913

(¢) 1991111813 (d) 1991111923
Ans : (a) B5F 78R, LIGHT & 9% [ & E
a1 fean @ 71

LI GHT 1297820

i

34 T,
ST KKIM 19 9 11 11 9 13
I 1
42. Sclect the option that can correctly replace the

question mark (?) in the series.
4,16, 36,7 _
30 faded H 94T &I A A T g@en # g
g (7) & T WU | yhrerfud SEar an
4,16, 36, ?

(a) 51 (b) 56

(c) 58 (d) 64

Ans:(d)ﬁ;rs% ofgell famad 8-
16

I el & AT A 64 BN

)

+12 +20 +28

I M.

+8 . +8

43.

In the question, a figure 'X' is given, followed
by four alternative figures '1, 2, 3 and 4' such
that figure 'X' is embedded in onc of them.
Trace the alternative figure, which contains the
given figure as its part (Rotation is not

allowed)
aE gva #, T g X d T ¥ g aw
N g F1,2,3, 304 F1FW

!? | [[A [A
__B \
L L L
X (1) (2) (3) (4)
(a) 4 (b) 2
(©) l@r = (d) 3
Ans : (a) T G X, IW G (4) |
3faffed g1
[A
—f v
L]
X (4)
44.  In the question, out of four figures markeed 1,

2, 3 and 4, three are similar in a certain

n:;:nnc:]. l-lm(\j't;l\'cr. one figure is not like the

other three. Choose the fi at is di

s dp thcﬁrcst. gure that is different

qg WA t,z,safluﬁﬁ.'awanm‘%
. . I

3 W W W, U fafvem i @ wur ¥

;ﬂﬁ-{gﬁ arat @ ford &
Answer Fig /371 K]

2) (3) (4)
(a)(l3) ( (b) ¢

A

45.

Amﬂgﬁﬁfmgﬁﬁmﬁ: srfaat § fu T
mﬁ@w#m%ﬁﬁﬁw
§o el & IR F D E

ﬂqm#aﬂa@ﬁmfr gl 1

(1) & fa e |

In the question, out of four figurcs marked, 1,

2, 3 and 4, three are similar in a certain
manner. However, oncfigure is not like the
at is different

other three. Choose the figure th
?fq%"gv‘?rcﬁrc}s,l'z, 3 3l 4 fafga = snfaal §)
garﬁﬁﬁ,?ﬁ?@ﬁfﬁmaﬂ%;ﬁm%
i T IEa 3= A @ e &1 3T MR
& g4 arar 4 faa ®
Answer Fig. /3 Fa=

Ty = =]

(1) (2) (3) (4)
(a) 3 (b) 4
(c) 1 d) 2

Ans : (a) [XC T Y7 3G HPA 1, 2, 4 T T
& Jafd H 3 =1 & firg @ s S (3) H FeAl
@1 37 @ 3TYeT 3 &

46.

Find the term that is related to the third term
in the same way as the second term is related to
the first term.

Kenya : Nairobi :: Norway: ? .
3IQ V& & 99 i A dET Vg ° Tt Had
[EAT §, W T Ve Ul Vg | Tl ¢
ST ¢ A Tid: ?

(a) Oslo /3Tl (b) Havana /&aTdl

(c) London /@A (d) Paris /9ftg

Ans : (a) 991 § G90 UK UBA WA @ WA |
A W gAY A IHA T a2

&

mﬂﬁm

47.

The statement below are followed by two
conclusions labelled I and 1L Assuming that the
information in the statement is true, even if it
appears to be at variance with generally
established facts, decide which conclusions(s)
logically and definitely follow(s) from the
information given in the statement.
Statements: All dogs are lions.

All lions are cats.
Conclusion: 1: All dogs are cats.

I1: Some cats are dogs. _
A fow T @@ & ag | 3w 11 Fae e
3 Pregd fraret wma §1 @ W fa w97 H
THEH 7 ¥, we & g warfua q@t @

forr w1, e @t fa @ w) e

Fs



qfbe w0 @ qur Aifvaa v @ wad § § WU

sraerf @ uftomy Prasrerar (@) § @1 grm'ﬁ wiftea & Fearaa & wranfya
sua . Tl SRR gla-f ¥ o .
it it fafeerat € g a
et ' : TS |G
. To & fafsaat 12 &1 gl aeantt &t _ o
'"'.'--gﬁfgf;q;ﬁ 9 & 1: wdfl, 3u Foba 9 wnfies samm o 43 a@
N 1 9 4 Srrrs
1 Onh conclusion | follows gyt & ﬁ'T" AT T%ﬁ-‘" o &
e Faa frad 1 gRomy & g (a1) Only | is strong, /fhd’t'l | wfafa )
(»  Only conclusion 1 Ii\ljﬂ\\% (b) ()"'I"i I ils S[I'vullll!!l' (ff;r_lr? [T st
&aa fasey 11 o (¢) Neit ier | nor 11 s I.tl)llj,', .
¢) Both conclusion tollows a1 s a @ ﬂ,rqfr.‘m o "
© ) fasd gfom [ L (d) Both I & Il arc strong/1 jm_II_EHT A 7|

L i T oar spmlasion. 11 - () Tt & INEd &l Grefed &l arEsd
(@ Naither conclusion S Ans : (b) ) i ' ,ﬂf-,qq

yRvT 4 8| fadred qemerr waifgu 7 ads | aoqa Jd 8 i T
[Ans : () Fe - ﬁﬁ;’ %’1"” o '.'Eﬁfn-éé" 'if' F AT # s @i e agli
I AR LSl f ¥ ki ﬁ §1 o 50.  Select the option that can cprrcctly replace the
| R < g question mark (?) in the series.
el DF, GJ, N, ? . ) :
il 37 fadhed a1 =9 @i S & T ¥ yoa
fag (7) & wdt = & wleeenfoa s
DF, GJ,JN,? M
48.  The statement below is followed by a (a) lI\Jdl\lg ((3; OP
conclusion.  Without  resolving  anything (©) : x
vourself, choose teh option to appropriately ||Ans : (¢) & T *Faar fimaq 8- ~
validate/invalidate the conclusion based on the [ ¥4 Y 4 Y -
given statement. DF GJ JN MR
Statements: Army personnel are brave people. + 3N 3 A
3 =% 1] 1] s = -
:,:l;:.';::"n?,f;‘“mMI will get 'Ratna’. Devesh is S1.  Select the option that can correctly replace the
- « . - .) - - '
Conclusion : Devesh will get 'Ratna’. ;llsle;t;ogsmfrk (*) in the series.
TIT FAT & TE Tk (I5HE 3T §) S Mo B

: 37 faset o1 wm= & & & 7 e F gy
?ﬁuﬁjﬂ?ﬁ%?%ﬁ g (7) =t wd w0 § yhrenfeg s

; 15,27,45,?
m.mmﬁ%mﬁma?! R T
mwmﬁ(ﬁﬁaﬂﬂ% £y (c) 83 (d) 87

THT AT el T g Ans : (a) *TEe fomreq 5—
T U Hfaw 15 27 49
foread « awr ‘=’ wrE @ I
- ] 44
(a) True /59 Hli F1['8L “';
(b) False /7em _ 6 16
(¢) Probably true /59aa: #d 3A: ]Gl H Il TR_R 69 BT
(d) Can't say /&% 76l Hehd L —— |32 The question consists of four problem figures
Ans : (a) F9 & HTAR HAT HHf ("Tﬁﬁ)\a@ Bld B marked A, B, C and D and four answer figures
TG HAT HE T 9 R AT 299 TF A s 1 TH marked 1, 2, 3 and 4. Select a figure from
74 4 7 {6 zq91 w0 9| o) sy Té &1 ;il:llnqgs! t!le answer ﬁgurc., Wwhich can continue
49.  The statement given below is followed by two ﬁgt;"%;"u established by the four problem
arguments numbered I and IL You have to ﬁJ‘%‘d‘ e arst
decide which of the arguments is a 'strong’ A ft,P,CHQT D3 =
argument. ITehTaar § qa4ari, 2,3 A4 | .Pﬂlaa R 3
Statement: Should the government encourage areft SHTAT &1 ST ety § & 3w 3TR(
the production of plastic? & WET w® S GEEn arsh STTRaal gRr

Arguments: I: Yes, this will increase the Wﬁ?maﬁmﬁ@ﬁl

revenue of government. Problem Fious
H: No, this decision will open the way for gure

fam am e 210 suEn aw gfafoeaa | |
1 # T &3 1 7 gea adh b (a) (b) (c)
17




Anwwer Figure. ’='T W’-}"’

ihy 4
(dy 1|

(a)
{(C)

i
-
L)

— ——

e . e L A

TS

e - ,,-,75 > 252 © oY r :
A”‘ " 7--77 sy TF ( T T oy "ﬂ:
W B ;#' % s :;".;{’ e a;r,‘vf,
e W BT ) —_ ) |

T hoone the Yeno deagrym that [ So———

the given w!wf-‘!u«t_ SCTORS 3 e,

MOTHER. FFMALES 1, c,-.'

77 B, T vy o

aq 77 A F
ﬂzrmtr’?f’-”’ v

[Ans : (0)777 3750 ¥ w9 W= wvz ot gve # ara? utpat TR
l‘q;"‘n. ﬁﬁz"j*rﬁfq*;*%wg:qm f_ | /-r i/._.
;?T-T ,_-‘:H-—ug—- ot Tan T R WA T +H () _vaz)/} ) ;_J__/ ‘J
li-@:-a:‘-w—-z':xr-;“*)ﬁ‘i —3 O /_-/
83.  Three different positions of the same dice are (c) @ ) (dy i
shown. Find which numbered face is opposite = o —
to the face showing 67 . s e 2327 3 O A WY
[ Ans : (c) "
[UTT TR (TEW) 3 A3 avEm- e fefrat) = S
e 3 ¥ = & dem av= v 6 Ty iy
T s & fauie N '
3 P i % 1In a certain cnde. LEADER s writien
i 6 4 ':G( FGT. Hom will ‘DE \l_-ER be writien g
- 3 3 the same code? 5 732 7, ;f"'DE‘f i
@ 1 by 2 NGCFGT % =7 = =37 3 - == -
© 3 (d) 4 'DEALER 31 && o =777
Ans : (¢) 91 | X T 2 ¥ I BoOS (F9F S5 AT (a) EFBLES "5-‘{{5{_3
S 2) THE @ FF: A wrEt 1- (c) FGONGT d) E41MDS
| = GagB= o =7 -
;:1?%:'1‘:#,~ Ans: (c;stE R N G C F G 1
(5 & favlm 4 0 2 4 44 .
|25 fawd | == T |
54, The following question consists of two sets of +2 ,
figures: A. B. C and D constitute the problem =2 |
set while figures 1, 2. 3 and 4 constitute the 5
answer sct. There is a definite relationship rg)
= Wa ® ) Wed =i

between figures A and B. Establish a similar
relationship between figures ¢ and d by
selecting a suitable figure from the answer set
that would replace the question mark (?) in

figure D. ) e
' ¥y U TRl & o AT £1 A, B, C
qYT D TEEN & Ge ¥ ¥, Aafd IFTHAA 1, 2,
3991 4 39T A 4 §1 A AT B AHAT & o=
v fafvaa @@ ¥ 397 4 ¥ ITgH q

dis 3 g i3 17 =T
FT T A A R
DEALEHR

t

taftagrafrafrafra

|

]

w@ﬁwmm( 37 p sTEfAEl & dr

gdT A7 F1 Hay TIfUA #fAu, A sHia D d

yva fag (?7) & gfaenfua &am

Problem Fig./ AUTHE 3THd
Ll

>

* o
§ |

L

*-ﬁ *
||

Given below are two statements labelled I and

IL Determine which of these statements to

answer the following question.

Question: How many children does Ram have?

Statements: 1: Sahar is the onhy daughter of

Rena, who is the wife of Ram.

1I: Sahil and Salil are brothers of Sahar.

Hra | 3w 1| Faw T @ wes fau ou
&1 & 39 9 § T Fnatatgs

ma‘z%mmmmm@)

A B & D
L]
Answer Fig, /397 3T w:r T & fead a=a 1?2
- | . 1: W far Y e ooft &, = R w
- i ¥ ‘! !' b aﬁ va'ﬁ T
L
i_*l ‘Am - 1I: Wifa 3 afee gan & wid §i
(a) Statements I alone is sufficient
(1) (2) (3) (4) HHd H44 | Bl
(@) 2 (by 3 (b) Statements 11 alone s sufficient
) 4 d) | HEA HYF || g
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—atement given below is followed by two
e:isfs«t)gt:‘l‘;beﬂg I and IL You have to assume
~ everything in the statement to be true, and then
~ decide which of the three suggested decisions

Jogically follow(s) based on the statement,

' ent:
gtalltem number of students are reported to be
“no out of school in Delhi as they are

dro
oogl:m cannot afford school fees.

ecisions:
I: The government
a program for such students

school.

should immediately launch
to reconnect to

%é’%ent should be motivated to sgabl?%it fees.
T&h ad 13N 1 e :
Frame W9 5 3T 98 W TR wew
e s R
IMER W T
m%%ﬂlgaﬁwwﬁﬂhmmﬁaﬁm%l

g

foeeht & o Wem # SO T e &

ek
CEL 18 |

FHiites & THE £ AR el Yo d8d TE w

Ans: (o) 5@ g - A="+,
o 25+5-35+15x4
= 5-35+60 = 65-35 = 30

General Knowledge
- gL
What is the class of computer bugs, related to
the formatting and storage of (c)glendar dat'a‘:‘for
dates beginning in the year 2000, known as®_
Frc Tfaat & foTT st

61.

T 2000 § TF a1 & fe

o7 % WEUT 3N TR | Heiftd ey av

@t gruft e 87

(a) CRM b) Y2K

(c) B2B (d) SAP :
Ans : (b) @8 2000 & mwe, o YIK@EE 2 %)

g7En % &9 § 4 9 9@ g1 a¥ 2000 % TE &
areht Bfr % T $eist 227 & FRUU 3R HERU H
T FFge o @ UH v df1 Y2K @ 'Y ;e
SRy & g 2K, 2000 F TG T 81 TAA §
1999 &t FEIG g 2000 ¥ g4 drel 97 79
FPoreR 31 fagar 1999 § ST & F1el g21 I
# mw T 9, few s W & for arie SR FE
9a THG 9, ARPT WA & I MGl HH H DR
TgSl 3% ¢ q=cl 91 Fehd 9, ¥9 A% 1 Fad 2000 FH

~

ﬁ?' FeEed d fagd acft i@ 1/1/1900 & @t §9 T8
1: TR BE E e ¥ T & fon wwa | | T 100 af o @ fa@m @ $RO V2K T &

@l qid Udh HTEsHA I i1 et et & o w61 ST B, S 6 TH IR A FEX
Il : Vo W1 & e ferq wmar-far @ | HIFET Ht Gy At

ST AR i 62. thich of tl;e following companies do NOT
(a) Only I follows /&daa 131& & _ 4 ave a manufacturing setup in Uttar Pradesh?_
(b; Both 1 and 11 follow/ 1 3T 1L, 3t 3% # e 3 @ B kil FTH W IR u%m o
(c) Either Lor II follows g fafmior e =@ 7

71 A1 e 141 &aa 11 IF & (a) Yamaha /3918 (b) Honda /gisT
(d) Only II follows /&act IS & (c) Skoda /¥Rl  (d) Tata Motors /2T HIeH

Ans : (a) #99_% ATAR [&ocll # Tper & T=d T ||[Ang ¢ (¢) IW_AW @l (I Arwen), gel (e

T 25 T ¢ f 7 709 §1 WHR H T FIW Ad

@Eﬁfﬂ%ﬁﬁﬁaﬁmmﬁ‘w -

1 Afew) e = & dfos qh&a &1 95|

(1) T &9 1 3F 78 2|

59. How many letter(s) in the word SUNDERBA

ocqu]c)lyl ogcuﬂles the same position in the word

as it does in the Engli%h alphabet series? -

SUNDERBAN ¥rsg ﬁﬁ?& e 34 wH |
g, S o wg s auiaen @ ®

AtE) g 2T WeH (vEAs) & fafwir sHRar S &
safe wer & fafmior g6 qeRy § w21

63.  Which organisation, founded by Raja Ram
Mohan Roy in 1805, attempted to remove
prejudices, negative traditions and practices
against women?

1805 ® TST TN HIET T g wUq fRE
e I Afgeelt % RadTh TRRTH Tuwet,
yatuEl 3 gersi @t gert & A fehar?

(a) Brahmo Samaj /SR FHS

(b) Arya Samaj /34 HHTS

(c) Freethinkers' Society /$fa&H e

2 77

(a)2 (b) 3 (c)4 (d)5
Ans : (a) SUNDERBAN # 37&% & @i %4 D 3 E
ggﬁmﬁmﬁ%ﬁwmmﬁm%maﬁ

(d) Freemasons /




(b) Vedaranyam. Tamil Nadu /aam-—«’m afirerrg
(c) Jaisalmer. Rajasthan /AN, TSI
(d) Kutch. Gujarat /=3, TsUd

Ans : (d) T (9RA) 7 d “wwo #1007 TS A

¢+ Mariana Trench famous for?
Ans : (%) YITER, TS A 9 A 1805 # fad|| 69 %"Mdﬁﬂ ?
ST & YT Jel @ afess 1815 H syl wwr g ) Most nunler of volcanoes
1828  F& TS R TG ) oft 1 sy w @ A @ & foe
1875 # <= wrEdt 4 & off | wifred et Ak (b) Most number._ of corals _
f;?rrmmwﬁa A W 144 v | e %{ﬂ(mfmm
g‘-“—ﬂ—{ HalAdd ol Uch 7t c) The du::pCSL poll]l onc

64. Which of the foIIo“ ing is NOT a dynasty_that : od] ¢ HaH el ]%3 & i

ruled in the South of India? 3 ¥ @A (d) Mosl numbers of ships that san

ST 3 WA o SR 9 O e e faRar 87 Faffereh e g7 6

(a) Cheras /™ (b) Pandyas /9T Ans : (©) Zr defail ( 3 m““g’m

(©) Rajputs /T (d) Cholas /9 #q & qdf wrm 9 A 3"@% . '
Ans : (¢) TSYT a9 7 ARG & 07 WO W A 4G mmmwngmwﬁ @rs 194sﬁ
e 71281 YA T @ Fe TG w Feed HMS el 11 A Sedr AU B R T W g
lemmqﬁWWwﬁWwW Wﬁamno%#falqﬁﬁ'ﬁﬂmmﬂﬁ%l
qxT, H\TE'F'T g¥, 9< 93, WHR 93 Ug Tgsard av||70.  What is the maximum number of ministerg
X 3N &1 T &9 4 9RG $ I 90 W OEA that can be part of the Union Cabinet of India?
Maﬂwmﬁﬁﬁﬁmwmm m%ﬁvnﬁﬂﬂﬁm T
65, Where Ts Tndia 1s onc o the Targest salt deserts & Tehd €7

in the world located? g ar (a) 15% of the total strength ofOLok Sabha

WA= ¥ O U R § &gy Raa 2 AT B FeT F&AT N 15%

(@) Chandipur, Orissa /9T, IS (b) 10% of the total Strength of Lok Sabha

AT B FI FEAT A 10%

(c) 5% of the total Strength of Lok Sabha

TARTAT & G TEA A 5%

(d) 20% of lhe total Strength of Lok Sabha
ARTT A Fod HE A 20%

HRgw Soael T 81 &wo & W W TAG N e
nsnqumrﬁﬁmamgﬁmaﬂmm
F© & W F TG e & “Fo H W I S FIH
s Wildlife Sanctuaries ¥ ¥ T £

Ans : (a)'q*)?wwqqﬁvﬁw#mmm
meﬁmmaﬁmmmla%mlw
T & TE W 40-40 §, 98 AaSaH 12% F0M
(9197 Hfgur F9neEE, 2003)

66. Which place in Bulandshahr District in Uttar

Pradesh i il P P ea 71. When was currency demonetisation first
EAGE: mts“e SRR orﬁce\rué]]cafms. oy attempted in independent India?/&=d WA
é i I [ & { &7 (a) 1936 (b) 2016 ?
(a) Sikandrabad /fEEaETE (b) Dankaur /EHR <
(c) 1978 (d) 1963
(c) Khurja /gt (d) Meerut /7@ Ans : (c) WA H [oeieh0] JUW AR F4 19468, § g3

Ans : (c) G 3 92 & TYTH AT F EREL 9
n@a%wglmﬁﬁﬁmaﬂmaﬁam
mmqﬁnm wiE, diee, agavs, A,
T, s, e sk xen § wed faat @ S A

67. Which Sri Lankan Prime Minster was removed
from office in October 2018? S

grl da T 500, T 1000 T4 T 10000 & 2T & < fHar
T WA AT ARG ¥ 999 R I 99 &R

9 1978 % ﬁqmmﬁ'ms‘w:rﬁwmaaﬁmﬁ
® T 1000, T 25000 dar T 10000 F At & & fHar
T Fafh A AR feser 8 q9et 2016 # fmar M
fmH 7500 T8 T 1000 & 92T F 9 fhar T 4T

JTAHET @l EZaT 2018 ¥ Ug | geran T
(a) Mahindra Rajapaksa /AfesT T598
(b) Maithripal Sirisena /#rarer Faftgar
(c) Chandrika Kumartunga /9feel $ARGM
(d) Ranil Wickremesinghe /afe fasmafae
Ans : (d) Arcidl & Tgaa FAad (FOEAr 4 g
afer fazRufa F FEE, 2018 &1 3%k 72 F & faar

72 Which act contains a provision that empowers
the government to issue directions to the
Reserve Bank of India?

o U UHT WEau™ §, Wt 9N
WaN & TR Rad 3% 1 Brfer 9l =
T USRI a1 872
(a) The Finance Bill /fav faaas

T AR H fiedT @ IE e & e ¥ OO (b) The Banking Act /st sffaay
Aty geTE 91 (c) Section 11 of the Constitution of India
68, On 15™ August 2018, India celebrated ifs . A & X @ g 11
Independence Day. N5 30T 2018 aRd A (d) Section 7 of the RBI Act
ST ... al s feaw warar SEftag sifafaay &t amy 7
(a 72 (b) 74 Ans : (d) T R 9% @ @aewd 59w 3 9
(c) 73 (d) 15 T fvid i Fw 8 v, po fevw wRRef A
Ans : (a) 9T & A7 WAl RGH 15 ST, 1947 F1 WWRBlasnaﬁxnwnﬁrﬂm%aﬁW

AT AT WAt 15 3, 2018 & 9RA 7 379 724t
Taar f&ad |

'“da“ﬁ' fider 3 geeft 21 (R, H
B.
= " (RB.I Act. 1934 & 911 7

20




In which state of the USA did wildfires rage
November 2018?_

- @ aar @2 faamr ik Aee sftew et
g & ShRT a1 ?

(a) California /

(b) Texas

(c) Ohio /3TrETal

(d) Virgina /gsit=ar
Ans : (a) 799, 2018 ¥ 3RS & SHferwiar siq T
<frqur AT @, S AAE-Stad & faEre SR A H e
a1 398 TEd A Hfermiffar § wEg fwor s ad 1933
¥ Aftpr & it 4N
74. Mickey Mouse, the well-known cartoon
character, celebrated its 90" anniversary in

2018. Who was the creator of Mickey Mouse?
urx ‘frat Ay’ 7 2018

gfag

o0t TrARNE ATl et Wi & formtar @ 87

(a) Dream Works Studios [ Sraadwfear

(b) Marvel Comics /ATa< SifHeH .

(c) Walt Disney Studios/dice f&ii =fsa

(d) DC Comics, Inc. /SIH FifHs, T
Ans - (c) 90 W39 @ o aicee (ol S Zat qaod
% o0 1928 ¥ afee fesr =fear & fovar mar an aie
e g Fae wEE 4 2018 H 90 HIAE 713 |

MotoGP Championships are conducted for

T
hich sport/race?

o il Sty e @ /de (@) &

AT Sl STt 87 ;

(a) Motorcar racing /AR Mt AT

(b) Motorcycle racing /HICT i

(c) Horse racing /959%

(d) Camel racing /3c Fr S
Ans:(b)ma_ﬁﬁﬁaq—s‘#ﬁmmqmsﬁmwy
g 21 el St & ad 2018 & faaa S &
HEES o Sl
76, Which of the following is a digital ledger in

which transactions made in cryptocurrency are

recorded ¢hronologiclly and publicly? :
fror & & @ @ feree forat

el # fag

F i grdwfaa ®Y

(a) Database/Se@d  (b) Vault/diee

(c) Blockchain /&iia4 (d) Biicoin Vit CEOEG
Ans : (0) 6 dddd U (s Hdufdh s
(@) 8, W& WA FHR b oA SR gAAS &
Repré A BT & fore FHOiG fhar S HHd g
qae @ stid fheEs (U< §E) T W W
fra=or &1 Gftwfe f&ar ST 2|
77, Which of the following wildlife sanctuaries_is

located in Uttar Pradesh? CEEiC]

‘and cause destruction and loss of human life in |

 Fdat 2018 ® 1Afte & T o= o Ser &t |

" (@ Chandraprabha Wildlife sanctuary
SR, f as & A 9|
78 X

7 2.

Ans : (d) TETH FIHAG

tﬂmmé, 33 % W= fre § Rud 21

m arq, o, dgsm, W, e e of
, :

3t aete ST W WY & euEs R &

YS! &7 # e g3 2l

F aefg AT weg Ry & fragd e S

U TEdiel & 21 9 AHANOT & WG S b

TR & forw & 7 21

78. The decision to allow women of childbearing age
to worship at Sabarimala temple was taken by :

Pt T 3 ford F s

arufa &4 @ forofar fefmes g fergn wrar ar?
(a) Sabarimala Governing Committee

TafiAren I wffd

the State Cabinet of Kerala

HTa T4

the High Court of Kerala

&hic] &l I=d FIFid

the Supreme Court of India

AT Fared

(b)
(c)

(d)
AT

Ans - (d) 28 M@y, 2018 @ Hated A@@A @ 5
rardrei & HfEEe die d 4-1 & 9gad § HEdmar
Wﬁwémmmﬁﬁwﬁ&%mﬁvﬁ
Sfeq 4 e TR &9 S U & a1 4 (e
What affectionate title did Gandhiji give

79.
Rabindranath Tagore?
il o TeEATe S @t uW @ & Sury di?
(a) Kaviraj /Hfatst (b) Gurudev /T#&d

(c) Santh /Hd (d) Bapu /ag
Ans:(b)’lf"d?ﬁﬁ#méﬂﬁwtf[@ﬁ'ﬁmﬁ
qar Wizarg SR T e ft @ Heer werl Wi
S gy A worg Ot & fow ¥ 1913 H
ifecr 1 A OB f T | 48 HAAE A HT Tt
a8 J99 U SAfh o
Sz TS § s% ‘98W ¥ed’ (The Great Senlind) Ht
chal 4l

80. Among countries that do NOT have a single
river, flowing within their boundaries, which
one is the biggest? ¥ ]
wmr\é %mwmm,fmﬂxﬁmﬁ
& ot 7t T @t 27

(a) United Arab Emirates /53w 37« 3
(b) Saudi Arabia /I3 A

(¢) Kuwait /3dd

(d) Libya /efifaan

Wﬁ\flgﬁ??wmﬁﬁuﬁﬁ Ans : (b) T3 3@ 99 &1 way w1 99 fada <9 7

a) Kheoni Wildlife Sanctuary fag & TH 17 379 <9 ot € 9@ &% A AL AG 98

(b) Karera Wildlife Sanctuary ﬁ-qf T, HR, A9 R 93 & FaW I A
H JANG STHIRTY Ty 991 2
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